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The booklet contains OMR sheet and having two
seals. Candidates will first open the booklet by
removing the seal at the top to get the OMR sheet.
Second seal will be removed two minutes before the
commeancement of the examination.

Before starting the Examination, the candidate must
write her/his Roll Number in the Question Booklet
and the OMR Answer Sheet in addition to putting
signature at the places provided for the purpose.

This Question Booklet consists of this cover page, and
a total 100 items. Use Blank pages available at the
end of Question Bookiet for rough work.

There are four alternative answers to each item
marked as {(a), (b), (¢} and (d). The candidate will have
to select one of the answers that is considered to be
correct by her/him. S/he will mark the answer
considered to be correct by filling the circle.

Use black/blue ball point pen to darken the circle.

See the following illustrations.

llustration:

1. Thesumof20and 12 s

(a) 32(b)38(c)31(d)34

The Cotrect answer of item 1 is (a), which should be
marked in OMR Answer Sheet as under:

000

Half filled, faintly darkened, ticked or crossed circles
will be read as wrong answers by the optical scanner
and will be marked as incorrect.

The OMR Answer Sheet must be handed over to the
invigilator by the candidate before leaving the
Examination Hall.

Keep OMR Sheet straight. Do not fold it.

All questions are compulsory, each question carries
one mark.

Use of calculator/mobile/any electronic item/
objectionable material is NOT permitted.

Coniroller of Examination
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Please note that in case of any confusion, the question printed in English will be considered final.
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22.

23.

54.

55.

What is the IATA code of Port Blajr?
. IXB
PBR
IXZ
PRT

ooow

Internal tourism includes:

Outbound & Inbound tourism
Inbound tourism

Domestic tourism

Outbound tourism

Qo op

Visitors spending at least three hours away from
home outside their usual environment for leisure
but not staying away overnight is known as

Leisure day visitor
Twisty
Excursionist

oo oo

Explorer

In Tourism Multiplier, which of the following is
not considered as “tourist spending’?

a. Direct spending

b. Indirect spending

¢. Induced spending

d. Demonstrative spending

International organization which defines protocols
of investigation of air accidents is. ..

a. Intergovernmental Court of
Atomic Operation

b. International Court of Aviation

Operations

C. International Court of Atomic
Operation

d. International Civil Aviation
Organization
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56.

o7.

28.

50.

60.

The term ‘Social tourism’ describes:

a. assisted holidays or vacations for
disadvantaged groups in society

b. tourism for proletariats

C. tourism which fosters group
activities

d. tourism for bourgeois class

ARR is the term used in hotel industry for
identifying

a. Average Revenue Rate

b. Average Room Expenses

c. Average Room Revenue

d. Average Room Rate
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The 2002 National Tourism Policy of India takes
into consideration seven key areas that will
provide the thrust to tourism development. Which

is not a part these key areas?

oo o

The full form of the PRASAD scheme (launched

Soochana (Information)

Suvidha (Facilitation)

Sohardarta (Friendliness)
Samrachana(Infrastructure Development)

2014-2015 under the Ministry of Tourism.) is

d.

'Pilgrimage, Recreation, Attraction,

And Spiritual Augmentation Drive'.
"Pilgrimage, Rejuvenation,
Acceptability, And Spiritual
Augmentation Drive'.

'Pilgrimage, Rejuvenation, And
Spiritual Augmentation Drive'.
'Pilgrimage,
Accessibility,
Augmentation Drive'

Rejuvenation,
And Spiritual

The Sutlej Circuit does not include

a. Chail
b. Hatkoti
C. Rampur
d. Tandi
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a. Consolidation,
b. Development.
C.  Exploration.
d. Involvement.

62,

Stage are called

4.  Allocentric

b.  Psychocentric

C. Mid-centric

d. Near-psychocentric or Near-allocentric

63. What is the meaning of Diagonal Integration

terms of tourism Organisation structure?

. Integration betweey the organisationg which
doesn’t falls under Same supply chain yet make
products complimentary to each other.

b. Integration between the organisations linked
diagonaIIy to each other.

C.  Integrationg between the orgamisations that
collaborate 1o each other directly,

d. Integration gt 10 subsequent Jeve] among
Organisations.

b, Match the items in List-I with those of List-1T and 64,

choose the corregt option from the code

given
below.

List-I (Bodies) List-I1 (Role)

A) TATA 1) Ensure coordination and cooperation

among travel a gents globally
) It Tepresents, lead and serve the
airline industry
C) TAAI iii) ensure professional coordination

Among  various segments of travel
and tourism business in India

D) UFTA iv) Promote India as a credibje and
Competent MICE destination.

B} ICPB

Code:

(A) (B) (C) (D)
a- (i) (i) (iv) (iii)
b. (i) (iv) (iii) (i)
S (1) (iv) (ii) (1i1)
1) (iv) (iii) (i1)
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65. Kazakhstan, Kyrgyzstan, Tajikistan, Uzbekistan

66.

67.

falls under which IATA traffic conference?

a. Traffic Conference 1
b. Traffic Conference 2
C. Traffic Conference 3
d. Traffic Conference 4

How many types of Unmanned Aircraft System
(UAS) are categorised as per DGCA Drone rules
20217

a. Five
b. Four
C. Three
d. Two

Match the items in List-I with those of List-1I and
choose the correct option from the code given
below.

List-I (City) List-II (Airport Code)

A) Paris 1) LGW

B) Monireal 1) IEV

) Gatwick iil) YMQ

D) Kyiv iv) ORY

Code:

(A) (B) (C) (D)
(i) (@) (i) (i)
(if) Giv) (iid) (0)
(iv) () (i) (iid)
(iv) (iii) (@) (iD)

oo o

68. What do you understand by Elapsed Time?

69.

o

Tota] time from gate departure to gate arrival

4

Total time taken during connecting flight

o

Total time taken by aircraft from take-off to
landing

d. Total Time taken by the aircraft to take off.

What is the JATA airline code of Cathay Pacific
airways?

a. Cp

b. CX
¢c. CY
d. CF
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70. Where did the United Nations

71.

72,

73.

4.

3.

Climate Change
Conference (COP 26) was conducted in 20217

a. Kyoto

b.  New Delhi

C. Glasgow

d. Sharm EI Sheikh (Egypt)

ENVIS stands for?

8. Environment Impact System

b.  Environment Information System

€. Environment Implication System

d. Environment Implementation System

What are the four stages of Environmental
Impact Assessment cycle?

a. Screening, Scoping, Public Hearing, Appraisal

b. Screening, Segregation, Panel Interview,
Assessment

C. Screening, Strategy, Polling, Acceptance

d. Projected, Economic, Statement, Assessment

Which among of these doesn’t comes under the
list of task performed by National Green
Tribunal?

a. Effective remedy in cases to environmenta]

protection.
b.  Conservation of forest & natural resources
Take cognisance of a matter on it’s own,

d. Enforcement
environment,

of legal right relating to

In which part of the India, ‘Dandakaranaya’is

located?

a. Northem
b. Eastern
C. Central
d. Western

The ranges of western ghats
‘Sahyadris’ in the state?

is locally called

a. Maharashtra
b. Karnataka
c. Kerala

d. Tamil Nady
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76.

77.

78.

79.

The gap which denotes the difference between
management’s understanding of the customer
needs and the translation of that understanding

into service delivery policies and standards is
called?

a. Knowledge Gap

b. Policy Gap

€. Communication Gap
d. Delivery Gap

Match the items in List-I with those of List-II and

choose the correct option from the code given
below. ’

List-I (Type) List-II (Impact on Firms)

A) Expropriation i) Loss of assets, profits.
B) Confiscation ii) Loss of future profits.
C) Inflation iii) Inability to transfer
funds freely
D) Repatriation iv) Higher operating costs.
Code:
(A)(B) (C) (D)
a. () (@1) (v) (iiD)
b. (i1 (i) (iv) (iii)
c. (v) (D) (ii) (iii)
d. () (i) (i) (iD)

The market segmentation based on social class,
personality and lifestyle comes under?

Psychocentric segmentation
Psychographic segmentation
Physiographic segmentation
Physio-centric segmentation

oo oo

What among these is not a basis of product
positioning in the market?

Price
User

Use
Warranty

o0 oo
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80. Familiarization trips are very helpfu] in promoting

81.

12

one’s product to the stake holders. One of the
major disadvantage it has is?

& It is only restricted to travel industry
professional,

b. Itis free of charge

C. It is dedicated to one property/destination in
particular

d. None of the above,

Which among of these is not an element of

Internal marketing?

a. Leverage the freedom factor

b.  Bring people together to benefit from team play

¢. Maintain strict hierarchy

d. nurture achievement through measurements and
rewards.

The crucial decision area of marketing that hag
direct effect on demand for the product and
profitability of the firm js?

o

Product
Price
Place

. Promotion

Qoo

“A product is more thap just a physical product
with its related functional and aesthetic features.
It includes accessories, installation, Instructions
on use, the package, perhaps a brand name, which
fulfils  some psychological needs and fhe
assurances that service facilities will be available
to meet the customer needs after the purchase.”
was defined by?

a. Philip J. Kotler

b. Jerome McCarthy
€. William J. Stanton
d. Robert D Nero

A ‘pair of shoes’ for yourself falls under the
category of ?

a. Convenience Goods
b. Speciality Goods

C. Shopping Goods

d. Durable Goods
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85.

86.

87.

88.

89.
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For tourists, the extent of knowledge and the
beliefs associated with a particular place of
attraction comes under the category of ?

Cognitive image
Effective image
Affective image
Conative image

What among these cannot be counted a justifiable
measure to promote destination branding?

a. Understand potential  visitors/customers
perceptions of your destination — through
qualitative research.

b. Be honest about your strengths and weaknesses.

C. Be unsentimental and objective about your
competitive positioning.

d. Be driven by powerful stakeholder interests into
developing a less than ruthlessly —market
focused brand.

The first Vande Bharat train was manufactured by
the as part of the ‘Make in India’
programme at a cost of approx.------ .

&. Rail Wheel Factory, 150 Crores

b. Rail Coach Factory, 120 Crores

C. Banaras Locomotive Works, 130 Crores

d. Integral Coach Factory, 100 Crores

A type of research aimed to make a prediction
about an occurrence of something happening in
the future is called?

a. Longitudinal research

b. Future research

C. Predictive research

d. Further research

A rating scale that is used to assess the
respondents' feelings and attitudes is?

a. Graphic Rating Scale

b. Likert Scale

€. Semantic Differential Scale

d. Side-by-Side Mairix
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90. The questions which are close ended in nature and

o1.

92.

. Which of the following surveys is

only accepts yes/no as 3 possible answer are?

a. Dichotomous
b. Dual

C. Dipolar

d. Bilingual

Research can be categorized as the followings
except?

4. Descriptive research
Normative research

b
C. Causal research
d. Analytical research

Researchers often use thig research technique to
evaluate how a tourism opportunity will impact
the host community of a region:

Qualitative technique
Quantitative technique
Delphi method
Correlation analysis

20 op

Survey questions may be broken into the
following types except?

a.  Factual surveys

b.  Opinion surveys

C. Interpretative

d. Causal

least
expensive?

a. Mail

b. Electronic devices

C. Interviews

d. Telephone

The variables used for experimental research are
the followings except?

8. Dependent variables
b.  Independent variables
C. Extraneous variableg
d. All of the above
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96.

97.

98.

99.

100.

An airline asking the passengers the reasons they
chose to fly with them is by using the following
type of surveys?

Factual surveys
Opinion surveys
Interpretative surveys
Structured surveys

Qe oo

When a hypothesisis stated negatively it is
called? '

a. Relational Hypothesis

b. Situational Hypothesis

C. Null Hypothesis

d. Casual Hypothesis

is compared to Mariner’s Compass
in sea voyages.
a. Research Problem
b. Data Collection
C. Sampling
d. Research design

A short summary of technical report is called?

a. Article

b. Research abstract
C. Publication

d. Summary

Calculate the flying duration (time) if a flight
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leaves New Delhi (GMT +0530 hrs) at 0030 hrs

and arrives Paris (GMT +0200 hrs) at 0630hrs.

a. 09.30 hrs
b. 12.45 hrs
C. 10.35 hrs
d. 14.25 hrs

77

SET 0030 & 75 faweft (+0530 ) & &V &
#fIT 0630 &7 IR (+0200 ) #ATeit 3

09.30 hrs
12.45 hrs
10.35 hrs
14.25 hrs
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